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file7 1.m #E1T

P nom = tf(1,[1 0])
K=1;

W2 =tf([1 0],[1.5]);

D = ultidyn('Delta',[1 1]);
T = feedback(P_ nom*K,1);

figure(1)

nyquist(P_nom*K*(1 + W2*D))
figure(2)

hold on

bodemag(T)

hold on

bodemag(1/W2)
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file7 2.m Z#ZE1T
P nom = tf(1,[1 0])
K=1;

WI1 =tf([1],[1.5 0]);

S = inv(1+P_nom*K)

figure(3)
bodemag(S)
hold on
bodemag(1/W1)

1
P(S) = g
K(s)=1
1
Wl(S) — 1—53
T(s) !
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file7 3.m #E1T
omega=logspace(-2,3,100);

P nom = tf(1,[1 0])
K=1;

WI =tf([1],[1.5 0]);
W2 =tf([1 0],[1.5]);

D = ultidyn('Delta’,[1 1]);

T = feedback(P_nom*K,1);

Stilde = inv(1+P_nom*K*(1 + W2*D));
S = inv(1+P_nom*K);

figure(4)
bodemag(Stilde)
hold on
bodemag(1/W1)
grid on

(#<)

P(s) = é
K(s)=1
1
Wl(S) == 1—58
Wa(s) = %
(5) = ——
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[gain W1S,phase W1S]=bode(omega,W1*S);
gain W1S dB=20*logl0(gain W1S(:));

[gain W2T,phase W2T]=bode(omega,W2*T);
gain W2T dB=20*logl0(gain_ W2T(:));

WISW2T=gain W1S+gain W2T;
gain WISW2T dB=20*logl0(WI1SW2T(:));

figure(5)

semilogx(omega,gain WIS dB(:;,1),'d");
hold on

semilogx(omega,gain W2T dB(:;,1),'r");
hold on

semilogx(omega,gain WISW2T dB,'m');
grid on
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file7 4.m

(BB 1] E—SHBICDULNT, Wils) = - ELT=EE, PHIE (KP 1219
T, KD=0,KI=0)TA/N\NRMEBEZmI-FTKPEmI-SELOKPES
A, IWiS|, [WoT|, [WiS[+ [WaT| Zglt,

% __________________
KP = xxxxx;

KD =0;

KI=0;

% __________________

omega=logspace(-2,3,100);
K = tf([KD KP KI],[1 0])

K nom = 10;
T _nom = 0.0933;
P nom = tf(K nom,[T nom 1 0]);

ooooooo



(888H2] E—SHIEISDLNT, Wi(s) = - ELFLE, PIHIE (KPEKI
121+ T, KD =0)TR/\AMEREZ - KP, KD &iifif==7E L KP,
KD’E%%, |Wls|7 |W2T|7 |W15| - |W2T| %*E(To

% __________________
KP = xxxxx;

KD =0;

KI = xxxxx;

% __________________

omega=logspace(-2,3,100);
K = tf([KD KP KI],[1 0])

K nom = 10;
T _nom = 0.0933;
P nom = tf(K nom,[T nom 1 0]);

ooooooo
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